124KB =EEEEE ES =
2~ X B &
B B | 201658 38 23H (K) 1530 ] Ramm | 455 %3 | =hA FREATRAR T v I—15
x & = [EvFRE ANTZ 2EEREZ | RM@ g2 & gmr |
EES BA Kig Bl & HE A— |
Bl HREEKRT ] L
S Y-V% 2. B 1 - 1 B R &

i 4 = 4
BiEHEX=E 1 2 | REEZEKRF
goK@ i 0 2K H 1 i KICK OFF
K a1—hk e . | 1 |& . B a1—hk Z R
[E=[ % [90] 75|60 45| 30] 15] & | = E*_g 5| B |§ _gi_g = [5t[15]30]45]60]75[90[ % [E5|

HT 0 % JEEH 1 |GK|GK[ 17| &FE& EX 0
HT 0 FH ME 2 |DF|DF| 34 NiE ZEak 0
HT 0 R RX 3 |DF|DF| 33| @ EH 0
HT 0 BEEAR HEX 4 [DF|DF[ 2 fNfE & 0 HT
HT 0 AT & 5 [DF|DF]| 3 RS 0 73
HT 0 Sk BN | 6 [MFIMF[32] [E ®E 0
1 1 B RR 8 [MF|™MF] 7 3 IhiE 0
1 1] 2 HE Bi 7 [MF|MF] 6 & & 214181 2
HT 0 HLR $Re% [ 10|MF|MF[26] FiE #—88 2|1 1
HT 1 231 HHE 'BF |[11[FwW]Fw| 44| %% & 0 51
HT 0 il A 9 [FWFwe0| =& EE 0 77
1 0 FE 2& |[16|GK[DF[19] T=H It 0 3
2 0 %A = |[12|DF|DF[20| P9 FHit 0 2
3 0 o #EF | 13[DF|Fw[ 25| &F AR 0 60
2 1 1 #AR #IR [ 15[DF|Fw[ 47 [STTTRE:? 0 44
5 0 =R BEABER |17|DF
6 0 alll K& |14|MF
10 1 1 2 HE & 18|MF
11 0 ARk B |19(MF
9 1 1 BT BEAER |22[Fw
T L LR B E B E B T LR B
B | B K % HnE B ME ®Ris BR | 3 K %
2ARB[1AH F—LEEH 1ARB|2&X B
4 6 10 [Sa—Fk] 6 4 2
2 3 5 G K 5 3 2
2 0 2 C K 1 0 1
6 3 9 | E#EFK]| 9 4 5
0 1 1 fEFK 1 0 1
0 1 1 [ @] 1 0 1
0 0 0 P K 1 0 1
=]

GE) AT AFHEOBFE. MBIV —FvIHD55. AT ARIZ&DEDERLTLND,
[(Z4£EH] CLRAR—YMITA,. C257F L1, C3EE. C4RYRLMDER. CoEETSE. Co:lRMTE. CTEHTA. CBENFIE
LRIGEMA] SUELFELRT LA, S2EBLRITA. S3DEME, S4B A IE(F) . S5F AL ()., S6:4EF. CS:Z&2[H

B F—L Bae 7 AR BERB (~:FUTIL. = FF9UFIRR, 1 REHAR, S:oa—k. HiATA0Y)
1 BX | 1: EA BF |10 #LR &\ hf-1i 9 H #8FFP; U7 icEnsi 9 1 11 i ZRS
12| REX | 6 & W& 33: fEME FEHA B-1i 33 1 ifisk-1i 6 i ARS

56 | REX | 6 & W& PK 6 {HARES




3XH =HEEEE * =

2 X i &

[ B B ] 2016 38 23H (K 1530 ] AWM | 4650 X3 | =HA FRREATRAR T VN1
x & s [ EvFiREE ANTE £EBZ | R\ g & mE |
EES EE R HIES =g B

HIES E E PN g | =g B
BEZX B/ BER 1 1 9% H 9 BEE
=7 : I
BRHEXZE 2 2 | REEEXKF
| ®CKOFD | 1 SA8 0 I KICK OFF
X K <a—hk 5 . | &1 |&H . B <a—hk X K
%= 45[30[ 15[ &t = £ F A E| B |8 £ F A =& 15]30] 45 42 &5
0 =R 2% |16|GK|GK| 1| ZEAK & 0
0 =2l = |12|DF|DF| 2 Nk & 0
0 AR tRER | 13|DF|DF| 28| 1niE E4&E 0
0 =i X2 |24|DF|pF[19] FHAH Ft 0
0 EE ] 23| DF|DF| 15 T2 =F 0
2|2 Al K& |14|MFIMF[25| &=&F &= 1 1
2|2 Ak BB [19|MF[MF[10]  FEiIL FhE 0
0 R it [26[MF]mF] 8 T BEA 0
1[1 =S BKREF [17|MFIMF] 81| #BX Rk 0
33 A A& |25[Fw|Fw[e3| IL&X HE 3[1i2
1 1] 21| BT @KRes [22|rwlrw| 77] &K X 1 1
= LR 55 BB BB = LB B
B | BB K £ HE B ME RS FriE | B K £
3A&H[.2K&E F—LEEt 124 B34
0] 10] 20 [ a—Fk] 11 6 5
3 5 8 G K 11 5 6
3 2 5 C K 5 1 4
0 9 9 | EEFK]| 12 9 3
2 1 3 | BEFK| 2 1 1
2 1 3 |G| 2 1 1
0 0 0 P K 1 1 0

KEES

GED) ATHARBORFE. BHETU—F 9o 8D5E . FTHARIZEBEDERL TS,

[(E4£3BE] CLRAKR—YITA. C25TTL A, C3Eif. CAEYEBLDER . C5:BETA. CoIEM TR, CTMATA, Co.EHTE

LRIFGEA] SUELRERTLA. S2EREITA, S3DIFHE, S4FAMSHIE(F) . S5:F AL (h) . S6:4EE. CS:E&2E

B | F— L Bae T AR BABB (~:FUTIL, —: 9590, 1 FEHAR, S:va—b HiAT42)
14 BX |22i BEI BKER|13i [ AR -2 13 — ifhg-1i 22 i ERES




